
MAT 226 Solution to HWG

Let Ffxyiz) = ( 5 - Eye )
-

t ZZ and note

that the given surface is the I - levelset

of f- (x. ya) .
In other words, a point (Xyz)

belongs to the given surface of and only if
Flxyiz) =L .

Thus
,
RF Knyaz) is normal to the

surface at that point.

PFH.net - fats-Et ) f -¥¥) ,
als -Etf- ¥⇒.) .az)

At the point ( xo.yo.to) = (NIL , o , I) , we have :

pfftotzI.az/=fafs-eoEI) :÷ ,
o , d)

= (-10+10+530,1)
= (53,0 , 1) .



Thus
,
the equation of the target plane is :
( ( x - toffs , y , Z - I) , (B ,

o
,
I) ) = O

X B - 1oBzt3 + z -I = O

XB t z - ¥+4 = o
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